Pfaff
Metro Spezial 9346

From the library of: Superior Sewing Machine & Supply LLC



Skezinl 9346

Bestandteileliste

_ist of spare parts
_iste de piéces détachees

_ista de piezas de repuesto

Nr, 296-12-14 836 dtsch. / engl. / fronz. fspon.  HD 8/85

From the library of: Superior Sewing Machine & Supply LLC



Metro Spezial 7340
Vorwort - Foreword - Avant-propos - otas preliiminares

Dis Teile der Maschinen sind so abgebildet, wie sie funktionsmaBig in der Maschine montiert sind.

Dia Einranmungen auf den Bildseiten zeigen, aus weichen Einzelteilen sich Baugruppen zusammensetzan.
Die Teile kénnen einzein oder auch als Baugruppen bestellt werden. Sind innerhalb einer Baugruppe Einzel-
teile nicht mit siner Nummer versenen, so kdnnen diesa einzein auch nicht geliefert werden.

Bei der Bestellung von Ersatzteilen ist auler der Teilenummer unbedingt noch die Maschinenklasse und die

Unterklasse anzugaben.

The component parts of the machine are shown as they are functionally arranged in the machine.
Assembiies made up of several component parts are boxed in on the illustration pages.
The parts can be ordered singly or as an assembly. Unnumbered component parts of assemblies cannot be

supplied singly.
When ordering spare parts, pieasé indicate not only the part number, but aisc the machine class and subclass.

Les piéces de la machine sont présentées telles qu'elles sont montées dans ta machine.

Las cadres dans les tableaux illustrés indiquent les piéces détachées formant des sous-groupes de pieces.

Las commandes peuvent porter sur des piéces détachées seuies ou sur des sous-groupes de piéces. Les piéces
détachées d'un sous-groupe n'étant pas pourvues d’une référence ne sant pas livrables seules.

Las piezas estin jiustradas como funcionan en fa maquina.

Los recuadros en las paginas ilustradas indican las piezas individuales de que se componen |os grupos.

Las piezas pueden pedirse individuaimente o por grupos. Si en un grupo de piezas hay piezas individuales
que no van provistas de un numero, entonces dichas piezas no pueden suministrarse individuaimente.

En los pedidos de piezas de recambio es absolutamente necesario indicar, ademds det N2 de pedido, la clase

de maquina v |a subclase.

From the library of: Superior Sewing Machine & Supply LLC



? M8 x 12
1 : / 16L 0913

8
|

8346~110.51 €3 8346-110.71
_A

A i
ol o \l\ L x 28 Tt 04 |
-1 Z
/ e i Tl 0-1 (AL B299)™
834511012 E3 w/ (L 8297) §346-110. 35
1 .
i ! §3246-110.32 ,__I_ ;

=4

w 834611002 &2

I \
Nlis
Obg— m —B“E“@—'ﬁ' +&R4 JLP 1
I “ 3346~110.09 l
834611007 * & ‘ 834611007 * Méxb ) :
Mbxs o TGLO—SS‘I
T6L O~438 €2 (AL 5420)
§346=110.50 EA : 8346-110.70
A -
A 22 6L 2948
9 ) 8346-110. 35 §346-110. 5%

j r_ﬂ/s- — | ?__-__.‘?_

ME
/ | EGL MB; G M3xh
AL 7283 161 0-125
£346-110.03 E3 nI e A
| ’ (AL 7794) Gt 558) /
\ ! ‘
. K L__
1oLt -
B3S-110.13 €2
CixID6,5 BIN6-110.42 p 3B OHE110.38
X 68
s - i3

L .
_A 8 x 0,6 x 1,5

8346110, 41 T6L 18395

10,06 (Seite 5) lieferbar

10.06 (page 5)

e 8346-110.06 (page 5)
346-110.06 (pdg. 5)

* Bei finzelbestellung nur paarweise mit B346-1

when ordered separately, only available as pair with pert 83461

En cas de comnande séparée, livrable uniquement par paire avec 12 piéc

En el case de pedidos separadas sblo se suministra por pares con la pieza 8

Frﬁhoro Ausfﬁhmntg in Ersatzfall wieder bestellen,
farlier version, t be reardered For replacement purposas.
ancisnte varsion, i commander § nouvesy pour achenge.

Tipo anterior, en casda de sustitucin pidase du nueve.

From the library of: Superior Sewingj Machine & Supply LLC



8345-110.08
(AL 1903)

BM4x6
N T6L 085
(AL 1503)
/
8346-110,22 -

7 e

8346-110.23 E3 §346=110.01

-
8346110, 2k Tﬁloof’g;g

8345-170.01 §345~110.05

\

1

‘v
ﬁ 8346-110.53 Fir Unterklasse /30
/ Far subclass /30
B345-130.02 Pour la sous-classe /30

Para la suuclase /30

: M
AL 9015 /2 _ TGE 6—238
O (AL 5416}

(Al 5438)

R @ (3. —/
{=F —- | - -

200/+5
— 6L 0933 Bh9x%
& \ B46-110. 26 (AL 0364) TGL 07
L) [ e (AL 8192)
8346-110.05 8345-170.01 N R

/

-

B346-110. 52 Fir Unterklassen /10;-/20
For subclasses /10;—}20
Pour les sous-classes /10;=/20
Para las subclases /10;-/20

o - cihare Ausf3hrung, is Ersatzfall wisder bestellen,
E;"lhr version, %5 be re=ordered for replaceaent purposes.
Ancienne version, d comaendsr 3 nouyeau pour achange,

Tipn anterior, en caso de sustitwcidn picase de nueva.

From the library of: Superior Sewing Machine & Supply LLC



Fir Unterklassen /10;-/20 Fiir tnterklasse /30

For sn{bclasses / 10;—/2? for subclass /30
Pour les sous—classes /10:=/20 pour la sous—clas
Eéﬂé:llgiii Para las subclases [10;=/20 §25§:1191§§i Para la subclase 7§0/30
—_— -
Mbx 10 M&x 10
160 0-920 ( TGL 9920
(AL 1956) f {AL 1956)
! | !
B346-110.06 *  346-110.06 * \
200/7-3 | 200/7-4
| | i
M6 .
bx 75 by 45 oo 6L O3
T6L 0—1EEI TGL O~1 L (L 728%)
| 16L 0-125
! (AL 779%)
200/4-5
T~ 8346-110.21
—— T T —
! A
Ii MEx6 | \ IT'Gt SB-‘I
i LN Eik g;gzg Il (AL 8297)
| .
! ! (
| O i
| 200/3-1 i
t -
; ‘ I
| l 200/3-2 . L
! ' 5x 2 I| /LL&
! ToL 0Tk 200/2-1
[ 5 x 24 B i
O - v i PO
8346-110.57
00/
'{:::?;“' i] ‘jh }* 444{{447 {47 |
3 x22
T6L 0~
(AL 8281)
-
§346-110.5

* Bei Finzelbestellung nur paarweise mit 8346~110.07 (Seite 3) lieferbar
when ordered separately, only available as pair with part 8346~110.07 (page 3)
En cas de conmande separée, livrsble uniquement par paire avec 13 pisce 8346-110.07 (page 3)
tn el caso de pedides separados cblo se suministra par pares con la pieza §346=110.07 (pag. 3)

rrﬁhor- nusﬁihrun%: im Eraatzfuil wieder Sestallen,
farlior varsion, 10 be re-ordersd for replacesent purposes.
Ancisnne varsion, 3 comsander 3 nouyess pour
Tipo nterior, e ceso de sustitucibn pidese de nuevo.

From the library of: Superior Sewing Machine & SUppIy LLC



AN

mé B2

T 0-934-5.8
&

MG x 16
TGL 0—912\

8346~120.02

o Bn

TN

—

§346~110.26

200/2-3

8346110, 27

“ 4

M6 x
TGL 0=316

[

MSxBOW

T6L 0-h6

6
t;GL 0—#67@

M6 8346-120.03.
T6L 0-93 &5 :
{aL 7283 oL 7403 |
8346120, 04
l
|
8346-110.11 8346-120.01 B2

N

§346-110.17

8346~110.13

200/2-3

MEx30
16L 0-653

M6 ;
ToL 0-h67 ™S

©9 .85

8345=120,01

Mbx18
T6L o=439 B

*'é‘ | TN (AL S4h0)
8346-140.05 8346110, 15
* 8346-110.12 B M 56/,(%2 -
T6L 5683 6L 038
B M Ex 12 % . . (AL 5440)
T6L 5682 w
: & M6 x 25 e i —— e
; X .12 |17 h
MEx25 8346-100. 6 T6L 0-912 8346-110.1 83461 l L 698
T6L Owk2? o AL 1083
BT ——
B346-110.66
g
B346~110.58
b R {ritere husflhrung, dn Ersaall vider Sestel esoses.
Ancienne Vlr‘!io:l, i der 3 souveau pour Sch

Tioo anterior, e caso de sustitciba pidass de nuevo.

From the library of: Superior Sewing Machine & Supply LLC



by h

B M6 1L 0-125 8346-300,01
6L 043 {aL 779%)
(AL 7316)
\\
e z,
12
9746-110.63 Eit 3;?$§

lvose

200/7-9
B400 59521'
T6L 28 7
)
fell 839
2 ¢
4
6y 12{7
18 1Y
] -4
porzellandse § 6 9_
porcelain syelet
E illet en porcelaine § b
Giete de porcelana g
- 6
6L 9-12%
§ 8345-300.02 (AL 7794)
ED o=
BM6x10
6L 0-85
(AL 1947)
—
8346110, 62

* fiir Unterklassen /10;={20
For subclasses /10;~/20
Pour les sous~classes /10;=/20
Para las subclases [10;=/20

L 200/7-1 j
i AL 7083
LMt
v
B34E-110.67

L 200/7-5

8345-170.02

ﬁ_:gtg =3

M8 x 21/12
(AL 2545)

TOL 0-934
M6 x 16~

6L 0912

L
§346~110.60 *
8346-110.61 **

** Fir Unterklasse /30
For subclass /30
pour la sous-classe /30
Para la subclase /30

From the library of: Superior Sewing Machine & Supply LLC



200/2-14

AMS x 10
6L 051 B3 /200/2—11
BM5x 10
(AL 3542)
8346120, 52 §346-120. 53
bhgx2
R T6L 0=7
(AL 8148)
by 20 E3
6L =7
4 M3 x 16/k
{AL 5741)
T 80,8 x5,5 x4 A |- 200/3=5 *
200/2-13 ToL 18 397 - . o
~ ~~ 40,8 x5,5 B346-120.51
~ T6L 18 397 B3 _
_BOBx9x254 T 200/3-5 5 *+
( T I6L 18 %97 ‘
i AD,8 x9x25
ToL 18 37 €3 |8346-120.59 **
M3 x 16/k B M5 x 10
—— o 6L 0-85
r— _|("‘L 5141) (AL 1928)
: ‘ . P
| | -
l 7‘9 P 36006
l————-——J CM6x10
- T6L 0920
% (AL 1956) SN200/3-7
8346-120 8346120, 26
§346-140.09 ﬁm‘ g/
Elﬁ F| B MSx 10
8346~140.51 | S E|\ T6L (-85
g MSx9%

* rjr interklassen /10:=/30 T6L 0551 «* fiir Unterklasse /20
For subclasses /10; -/"{J AMhx 10 : For subclass /20
Pour les sous—classes /10;=/30 TGL -84 pour la sous=classe /20

(AL 1153) parz la subclase /20

ara las subclases /103 -/30

8 Frihere Ausfuhrumg is Ersatzfall winder bestellen.
il Farlisr version, io be re—ordered for replacesent purposes.

Ancisme version, 1 comssnder ] nouYslu pour wchange,
Tipo anterior, an caso de sustitucin pidase de auevo,

From the library of: Superior Sewing Machine & Supply LLC



BM4x10
T6L 5683
(AL 3154)

¥

Xy J&Z?—'

A¥L x0E
oL 5683

5346—140 10

§346-120,57

200/4-9
§346~140.08 AR ?—
pMéb
T6L 043
(AL 7336)
¢ 11 x 5,5
B346-110.04E3  TGL 18 395E3 [ —]
8246-140.04 B 0,8 x8x5,5 8346~120. 24 '
/ T6L 13/595 / | | e
Mixi
.# — e “"‘%"———'{ ——e=-- ’rGLo—AeA
! 200/ | |
_i ?_;) 1_. ....... .l
’@ M6 x 13,1/8
5 ' o (AL 2504}
|
b3 200/3-15
BMLx6 2
6L 0=125 M 10
TaL 0-85 (AL 7790 %g bl B85
(AL 1903) i = (AL 1947)
8346-120.23 l - 8346-130.02
i
AMS x th 206/3-13
3x thEA AMb 14 E3 !
T6L 07 /TGL 5683 — (AL 3170) ! «
X -
3mbx b x 1h T6L sez»sza/‘B e 8-
B M bt XE
oo 1oL 5663 B 4 oL 0-4% AN x 18
(AL 8134 2) 1 (AL 3163} T6L 0-7H3 ¢y 7345) ToL 0-84
(AL 1157 2)
— 200/3-8

8346-120.56.

A
§346-120.55

frihera Ausfihru

ip Ersatzfall vieder hestellen.

-Enrliar versiun,"gn te re-groared far reolacesent ourposes.
Ancienne version, i comssnder i nouvesu pour fichange.
Tipo anterior, en case de systituciba pidase de nuewe.

From the library of: Superior Sewing Machine & Supply LLC



M5 x 12

3,2
@"_ T6L 6799 T6L 0-312
; 8004 1011
L 8008 0836
8008 0809

393
T6L 0-125
(AL 7792)

29 x 12 xh5

- (AL 7051)
AL 7127 / 8346120, 71 @
. \

3h6-140.12

8346-120.58 200/2-18 32
’ q\m ” TeL 6799
.52 X
83461405 2 sl
M7
@ — (AL 7598) 20/52
| \
B 2995 (& —b . .
200/6=5 £ \
> M6 x 3345
T 200/6-4 M6 x 16 _ (AL 2529
TGL 0=912

. oo
@— 200/6-3 E"/@_" N 20/

Bty

8346140, 50
frem,
—— 200/6=1
: BMb
P — {it ‘7*;'{23 B M a,_g"x 6 8345-120.19 *
TolL g
g (AL 1134 b) W12z x ¢
8346-140.53 1
)}
?AL 1982) / ) B346=120.1% *
] ) . LT 8346-120.15 **
K™ 8346=140.06 * Fir Unterklassen /10;=/20
BM2,5%5._1 for subclesses /10;~/20
T6L 085 Pour les sous—classes /10;-/20
BM4 yp B346-140.14 Va Systen 81 Am 120 para las subclases [10;={20
TGL (-85 —— T6L 6233 *
(AL_1905) [ ) . )
i ~ b !-é:‘A 4 SYstgm B8 8m 150 - Eur Unge;klas%o/}o
. c— TeL 6233 = or subclass
lo — 2 1L 0705 Pour la sous~classe /30
834614011 B461~3.110 £ para la subclase /30

Rl ihere AusfOhrung, is Ersatzfall wieder bestallen.
E:‘:‘licr version,nqu'a e re-ordared for replacesent purposes.
Aacienne version, i der & nouvese pour echang
1ipo anterior, et caso de sustitucidn pidese de nueva.

10

From the library of: Superior Sewing Machine & Supply LLC



8402 2807 ** o)
8402 2808 *** (

AM25x5

8345-180.12 *
AT o 08 @
Wb xb 83!‘5"180-1"" 200/7_15 *oh (M. 3128) * / i /"*
it 0-7E1 200/7/'15 -
6 ;i
_ (]
AMz,sxs/ oA M 2,55 —\/
T6L 5683 1 oL ez </ :
(AL 3128) #u= ‘?
AM3IxS i
TGL 0-B4 £ .
(AL 1172) 7 /
AL 8385 B S
] B346-130.16 *
I R i a T B346-130.17 **
-~ B340-130.18 ***
BMZxh \
16L 0-55 20081
(AL 1887) ’
B346-130.06 *
| 8346-130.07 **
41" 8346-130.08 ***
L x 18
T6L 01472
N\
e ——
e
W6 k16
6L 0=412 i
g2 2805 *

200/7_12 * / *k
20/1-13 *=*

* Fiir Unterklasse /10
For subclass /10
Pour 1a sous-classe /10
Para 1a subclase /10

g400 2852 *
BLO0 2851 ** [/ ***
840D 3322 * 8402 2878 L
8400 332k ** —
BLOD 3321 ***
A 4
8346—130.50 *

8346-130.51 **
B346-130,52 ***

** [iir Unterklasse /20
For subclass /20
Pour la sous-classe [20
Para la subclase /20

#+ riir Unterklasse /30
for subclass /30
Pour 1a sous—classe /30
Para la subclase /30

im Ersatzfall wieder bestellen,

Fribere Ausfﬁhrun%a
Earliar version,

Ancienne version, 4 comsander & nouveau pour tehange.
Tipo anterior, en ceso de sustitucifn pidsse de nuevo.

be reordered for replacement purposes.

From the library of: Superior Sewing Machine & Supply LLC

1



V TEL 4512612

N

/%DBMétheogs

BMSx G
T6L O~85

~4

(AL 9517)

4 4

e
£346-150.01

TGL 71—

' !83&6—150. 65 *
8346-150.66 *
8346-150.67 **

@

B M g_h
TGL %0
+/ (AL 7376
oS
a M6 x 14/6
: (AL 2502)

8346-150. 10

M5 [ TGL O~
160 0..1;}[, $
BMS5 x 10
TGL -85 g%ﬁtlgg.ﬂ :
. f ]
/311~ 834%6-150. 16 **
8400 55554 g 8346-150.13
TGL 26 764 l 615
7 $\.
8346-150.52 €3 200/8-15 *
: 8400 3322
8 x
200/8-20
AL 7319 TR e s o 2
” X
/ /o 8400 3321
_g_ _ .@ 5 AQ:fé M&x 16
% | ToL 0-464
8345-190.03 - @ , 8346-150. 11
] AN
8345~190, AL 7791 :
ﬁ 5~190. 01 79 834615070 l
. 8345-100.09 * l
ﬁ' 8345-190,10 ** :
3,2
T6L 0-125
(AL 7789)
e 200/3-12 BM3Ixb
T6L 0-84 ‘
(AL 1128)
. 4
B346-150.50 * B3 g3h6-150.61 *
8 150.
8346=150,51 *= E R3L6150.53 **

* fir Unterklassen [10;-/20 *» Fiir Unterklasse /30
For subclasses [10; / For subclass /30
Pour les sous-classes fo-f20 Pour 13 sous-classe /30
Para las subclases /10; —/20 Para 1a subclase f30

12 [ribers dusflbeung, Jo Lo e 75?":&?:535;1.3",,.:%“.

From the library of: Superior Sewing Machine & Supply LLC

Ancisnne varsion, i comsander & rouvesy pour change.
Tipo anterior, en casc de sustitucitn pidase de nuevo.




B M8
ToL 4%
(AL 7316 a) .
\\\{ B}Q\\f:i;iB
1 J"
A T3 B346-210,06
ToL 39802 / 1 8346-210.02
6202
v = ! ToL 2981 ' 15 % 1
L 09% 4 T3l 0471
(AL 7285) I g3u6-210.07 (AL 9521)
i Al R ﬂ\ B0
O (P HE
§346-210. 15 E3 i '] 210, 1 I By
: * woz \'n .
\ ~M B x 10 A5%5x16
* L{5}§=" ! Tt 2981 Rl Tor o438 TeL 9500
8346210, 16 Mex16  — (k549
-210. T6L 0-912 S
1 =t H
M8 A
T6L 0=934
(AL 7285) §346-210.52 * ‘ :
A 13 i i
ToL 39-807 = 8346-210.07 €3

&

\
§346-210.51 *

10,5

fGL 0~125

{AL 7800)
M10 x 30
T6L 0601

{AL 363)
Fir Unterklassen [13; /23 /33 ** [Or Unterklassen [1h;~/24;~/34
For subclasses /133 / For subclasses [1by=/2ks~/34
Pour les sous-classes /13 -/23 -/33 pour les sous~classes /14 — 2k /3k
Para las subclases /13; —/23 -/33 Para las subclases [14; -/2& -/ 3
B36-220.51 **
A
8346~710.03
M Al M6 x10
} TGL 0-438
(usessy | C 1 O (02
! T6L. 2981
% x1 £002 §346~220.02
160 0471 ToL 2981 I\ ]
(at 9521)
: /'\ B345-210.07
i BN A i
J H k/ H L— A5 x5 x1b
RN | T6L 9500

8346~210.02

bx?25
T6L 0.1
(AL 8295)

=

1 s
U

fe——5i

e

346-210.04 €2

‘\@

5x 1
TGL O—W

len.

be re—ordered for rephcenent puUrposes.

Frihere Ausfuhrung im frsatzfall wieder bestel
Earlier version, to

Ancienne version, 3 commander 3 nouvesy pour changs.
tipe anterior, e caso de sustitecibn pidase de nueve.

From the library of: Superior Sewing Machine & Supply LLC

13



| y -
| 1 4621050 *
| | 8346~220. 04
| | = > ju 8
i L TGL 0-034
! 1(AL 7285) TG!. 0-125
i £ . | (AL 7797)
= S A
1 .
' MBx20
¥ : t L—'—'_‘—I ToL 0-933
l : | (AL 352)
l— ' ' ' ' — T 8346-210,08
M 12 % 60 r—- . I
oL oot | |
== | L= : - ?+—¥- E:} |
‘\ .
M 12 | 5 x 40 : 5x 32
W2 ez 0X 0, Q\TGL 2 l
(AL 7268) | (AL 8315) — (AL 8313) l
| : 6x8 I
M6 x8 a\M 0551
| T6L 0-551—— o el I
S € .1 RO i
h 4
10 Rt B0 8346-220,50 *+/ +xx
sk
-~ Endloser Rundriemen
““‘ . . . Ep“{! Endles§ round belt .
Courroie rende sans fin
§ : : Corres redonda sin fin
% 48 x 1310 *
ouK 132/ T6L 11 855 #8 x 0% * @
0,25 kw cIL— 28 x 1510 ==
220/380 V MEBx X
AN Tot 0401  d8xu0
B,4 (AL554) B8 x 150 *
TGL =125 —=.
(AL 7797)
Yy ek fip Unse{klasse%? /27-73437
Fer subclasses
"6l 06197 Pour las sous-classes /17-- [e15= /37
Para las subclases f17;- }27 = /37
* Fir Unterklassen /13;-/23:=/33 ** Fir Unterklassen /th;=/24:=/34 #+= eilriemen 10 x 6 x 850
For subclasses /13 —/23 /33 For subclasses [1b; -/24 -/31' whelt 10 xlﬁ ¥ 850
Pour las sous-classes /13 +=/23;-/33  Pour las sous—classes /1‘v—/2'¢ =34 Courrgie trapezoldaie 10 x 6 x 850
Para las subclases /13-—/23 -/33 Para las subclases /14--/2‘0 -/34 Correa trapezoidal 10 x 6 x 850

hers Ausfihrung, ie Ersatzfall wieder bestellen,
14 E:ud::: v::s‘{o:, gu be re-ordered for replacement purposes.

Antienne version, § comsander § nouvew pour bchunge.
Tipo anterior, en caso de sustitucidn pidese de nueve.

From the library of: Superior Sewing Machine & Supply LLC



M0 x 16
TGl 5683
(AL 3210)

7
8346-210. 11

8346-220.01

a ¥

M6 x 13/9
(AL 2503)

s -
K 2116

—

T

1,8
ToL 4778

N
N 2116

EE 2]

1,8
T6L 4738

N 2116

"
5346-220.52

ok

Fiir Unterklassen [1h;= [24;- [3h
For subclasses [1hs= [2hs— [34

Pour les sous—classes /1':;- f2hs=
Para las subclases f1h;~ [2h;- }3

Fir Unterklasse [173= /273~ [37

For subclasses [17;— f275~ /37

Pour les sous—classes /17;~ [27:= /37
para las subclases f17;~ 72?;— 737

/%

Knotenkette 1,8 TGL 4738; 7 Glieder
Knotted chain 1.8 TGL 4738; 7 sections
Chelne 3 noeuds 1,8 TGL 4738; 7 maeillons

Cadena de eslabones anvados 1,8 TGL 4738;

M8 x5 B346-210.0%
164 0-931 — >
(AL H8)
\-
8,4
T o125 !
(AL 7797) @
—
. o
M3 — !
T6L 0~934 L. '
(AL 7285) 8461=5.233
—
—
i e
8346-210.10 J
i
M0 x % —
T6L 0912 1
. WS
LY J— \L ¥ )
161 0=125 — i
(AL 7800)
3%6-310.13
7 .
' R ;{ M10 x 0
; T6L 0-551
1 w—‘ {aL 5452)
il i 11
\ v ; *
-4 .
PG 1 *
TGL 10 492
10,5 —
EG’L ootzs =~ - :
AL 7800 — -
M0 x 5|
6L 0-912
Aok
8346-210..09
‘55‘\*
kiR

7 eslabones

Knoterkette 1,8 TGL 4738; 13 Glieder

Knotted chain 1.8 TGL 47383 13 sections

Choine 4 noeud 1,8 TGL 4738; 13 maillons

Cadena de eslabones anudados 1.8 TGL 4738; 13 eslabones

15

From the library of: Superior Sewing Machine & Supply LLC -



T . *e _ . L
T el i
e O N
V
®* Fir Unterklasse? /17;7 /2?;7343? -
for subclasses [17;— /275
pour les sous—classes f17:- [27:= /37 83:6-230.01

Para las subclases /175~ 1273 137 8346-210. 19

AME x 10
T6L 5683 E3 \ﬁ
! *  Fiir Unterklassen [13;- /231 /33

A b _— _@_ For subclasses /13- [23= /33
TGL 21 705 E3 Pour les sous~classes /1%-- f23:- [33
) Para las subclases /13;- 723;— 733

: 8,4
§346-210.12 E3 8 x 25 oL o J6L 0-03
s Groen ) Yol
i 4 |
ﬁ
AMS x 70 : : ! I~
ToL 5663 2 \ T 3 346-400.01
AM 56x 16 ' \(F
TGL 5687
Iwillingsstutzen
(L35 o - Twin muff
TGL AMax Manchon double
GF/(AL 7281) 161 0-B4 Manguito doble Lot M b x 13 )
; (ae 1153) 250.84. 1 Yo des T
M I - L]
- & —= ToL 39/30 (AL 1903)

o+t ]
.

!
8346210, 21

- frinere Ausfiheung, Im Ersatzfall wieder bastellen.
16 E:"li:: v:rslnn, %5 be re-ordered for uplne,cnl purposes.
' Arcienne version, 3 d vews paur ‘echang
Tipo anterlor, en cuso de sustitucidn pidase de nuevo.

From the library of: Superior Sewing Machine & Supply LLC



R

-

——£176.002/7

Motorkondensater
Motor condenser
Condensateur de moteur
tondensador del motor

Wechselstromausfiihrung

he C. version

Mogéle pour courant alternatif
Modelo para corriente slterna.

Drenstromausfihrung (380 W)

0. C. version

Mod®le pour covrant triphase
Modelo para corriente trifésica

L~ kabel / Schalter — Motor
= - —" == gord / plug motor
Cablé interrupteur — moteur
Cable para el interruptor del motor
kabel / Stecker = Motor / B2346-220.05
Cord / plug motor (hYwHY-J b % 0,75 Cu)
Cablé fiche — moteur
Cable para enchufe del motor \
§346~220.06
(NYMHY =0 & x0,75 Cu) i — =k e e
v
ok / ok

prehstomausfihrung (220 V )

0. C. version

Modéle pour courant triphast
Modelo para corriente trifasica

__A

I A

2

~6170.002/4

6170.0@2/5"/,

25 uF 220 v
TGL 10 589 =
=720, 08 -
A1 8 : _Kupplungskragenstecker
hd Kupplungsstecker Coupling plug with shroud —— |
+ Coupler plug Fiche d'accouplement 3 encolure
Fiche d'accouplement Enchufe de acoplamiento con
Enchufe de acoplamiento ¥ collarin protector.
10 R 250V Wr. 22141.5
Nr. 2209%.12/% TGL 200.3755
h 4 b 4
o / *ek *% / freen *h / EL

Fir Unterklassen [1h;= /2hs= /3h
For subclasses /14— f2hs—= [34

Pour les sous—classes /11:;- f2ks= f3b
Para las subclases [14;= /243 /3t

*kk

Fir Unterklassen /175~ /275~ /37

For subclasses [173= f275= /37

pour les sous—classes [17;= [275= /37
para las subclases /17;- f273- /37

L

From the library of: Superior Sewing Machine & Supply LLC



200/42=1

172/30 o
-
....... 1174/55
/ Nr. 611.82.801

G1kanne

0il can

b Burette d*Huile
Alcuza

@ - Ne. B38 1 J2
13/17
7 T6L hB-75109

q

) -,

L

8345-130.01

6
- T6L 48=43215

2
~~ T6L 48-h3215

18

From the library of: Superior Sewing Machine & Supply LLC



8346-300.02
@/

0308.5

M 4
x 15 T6L 0-93h
b Ly 20 Z\L ) (A 7297) 200/13-9

L 5687

(AL 3528) T, @ —E— E E
Byl

M b x 8 TGL =125
T6L 0-003 (L 7754)
(AL 830\) \
SO F
| /
: Mb
J ToL 0-93
44Tt (AL 7283)
/_\_._-—'T"\
e — \
4 4 \ 8345-400.07
8345400 04
A345-400.02 *
8345-400,03 **
——~—
ei Bestellung ArmgriBe angeben
§ 201 Indxcate length of arm on orders
Preciser 1a longueur du bras 3 la commande
Indiquese 1a largura del brazo en los pedidos
* {or Unterklassen /10;=/20 ** Fir Unteritlaslsf;o,f}O
For subclasses /10;~/20 ;::rsggci:::-classe /30
Pour les sous-classes [10;=/20 o 1o sabolase /30
Para las subclases /10-/20

18

From the library of: Superior Sewing I\/Iachine'& Supply LLC'





